
 

 

Maths 

Today, we’re going to use the grid method to help with 

multiplication.  

So, here’s a calculation  26 x 3 = 

And here’s how we can use the grid method to help us work it out 

(we split the tens and the units): 

Tens    Units 

X 20 6 

3   

 

So first, work out 20 x 3 = 60  

and then work out 6 x 3 = 18 

 

X 20 6 

3 60 18 

 

But then we combine the answers. 

60 + 18 = 78 

So, 26 x 3 = 78 

 

In your home learning books, use the grid method to work out the 

answers to these multiplication calculations: 

 



 

 


